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Note - You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will result in zero mark in that question.

1. 1. Which one of the following divices converts light S £/t & LEALASEH e Sniile Lits <1

energy into electrical energy?

electric bulb b SO (B) photo cell JEi9 (A)
electric generator t__?._f}-'l _ (D) electric cell 5 J}‘?I (C)
2. The work done will be zero when the angle between the <0y sl Sl el sl 97 _’,::fy:)’...f; -2
force and the distance is
180° (D) 907 ©) 60° ® 4 (A)
3. Earth's gravitational force of attraction vanishes at -.;_&’.gx..;tzw}u"’a‘-"dgzifgﬁ} -3 |

;<€ 1000Kkm (D) ; #¥ 42300km  (C) ¢ ebuwt infinity  (B) ¢ A 6400Km  (A)
4. The number of forces that can be added by head to tail rule are ‘c FoV Gt S e o F J i -4
any number st (D) 4 (©) . 3 (B) 2 (A)

5. Inertia depends upon ‘,‘g_{u’.:’w‘f.l § e Uidits -5

velocity ~ U+ (D) mass vt (©) netforce vf e (B) force ¢ (A)

6. Newton's First Law of Motion is valid only in the ‘.‘q.ryr-._'}dbf §=l7yd "..._J-:; ciué.%u:d’):::jc;u(fr_ufufian -6

absence of
momentum 4%y (D) friction u;;' (C) netforce u’;} < (B) force ._:»" (A)
7. Which of the following is a vector quantity? ey ASSH S 5ln 2T

power .l (D) displacement ..w':%us (C) distance  l<i (B} speed A (A)

8. The number of basic units in S are -.j_.:lﬁdjuj"g s ;_;.'S] -8
9 (D) 3 (C) 6 (B) 7 (A)
9. Insolid, heatis transferred by e3P a7 JEI U ot u¥ L9

Af% - . a4 y &7 —— LTI
conduction &~ (D) absorption ¢%ixl (C) convection % (B) radiation Fifis (A)

10. Normal human body temperature is : _a.,é-;‘ K(’?;:}Ul 225t 210
98.8° F (D) 3TF () 3TC (B) 15°C (A)
11. Atmospheric pressure at sea level is about - Df@:.} b S U ¥ jﬁ"‘_é/ -1

101300Nm™ (D) 100300 Nm™ (C) 110300Nm™ (B) 102300 Nm™> A
12. Specific heat of water is . -q_.,.wr‘? \;-dJJ]UI/'\}Lr 212

4200/ Kg'K™ (D) 42007 Kg7K™ (C) 4280JKgK' (B) 4200/ Kg'K™ (A)
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